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0O00D00CO Absolute Maximum Ratings / Ta=250 N-channel  P-channel unit
oooooooooo VDSS 30 O 30 \Y,
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oooo PD 0000000 (2000mm?x 0.8mm)0 00 lunit, PWD 10s 1.8 w
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oooooo Tstg 0O 5500 150 O

00000 Electrical Characteristics / Ta=250
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min typ max  unit
oooooooooooo VGs(offy  VDs=10V, ID=1mA 1.2 26 V
ooopoooooo |yfs| VDs=10V, ID=5A 3.9 55 S
O0000o0oooooooOo  Rps(on)l  Ip=5A, VGs=10V 37 48 mQ
Rps(on)2  ID=3A, VGs=4V 64 83 mQ
ogooag Ciss VDs=10V, f=1MHz 460 pF
oooo Coss Vps=10V, f=1MHz 95 pF
gooao Crss Vps=10V, f=1MHz 75 pF
ooooooooo tg(on) gooooooo 11 ns
ooooooo tr ooo o 20 ns
ooopoooooo td(off) ooo o 30 ns
oooo tf ooo o 20 ns
ooooooo Qg 8.6 nC
Oo0O00o0oOoooo Qgs i| VDs=10V, VGSs=10V, ID=5A 2.0 nC
ooooooooooo Qgd 1.6 nC
oooooooo VsSD I1S=5A, VGs=0 0.9 12V
[P-channel] min typ max  unit
oooooooooooo V(BR)DSS ID=0 1mA, VGs=0 O 30 \Y,
0o0ooooooooooo  Ipss Vps=0 30V, Vgs=0 01 pA
oooooooooog IGSs VGs=% 16V, VpS=0 + 10 A
oooooooooooo VGs(offy  Vps=0O 10V, Ip=0 1mA 012 023 Vv
ooooooooo |yfs| Vps=0 10V, Ip=0 4A 35 5 S
00000000oo0o0ooo0 Rps(on)l  Ip=0 4A,VGes=0O 10V 53 69 mQ
Rps(on)2 Ip=0 2A,Vgs=0 4V 105 147 mQ
oooo Ciss Vps=0 10V, f=1IMHz 510 pF
oooo Coss Vps=0 10V, f=1IMHz 115 pF
oooo Crss Vps=0 10V, f=1MHz 78 pF
ooooooooo tg(on) gooooooo 11 ns
ooooooo tr ooo o 55 ns
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oooooooo VsSD Is=0 4A, VGSs=0 O 09 015 Vv
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